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o Please check that this question paper contains 16 printed pages.

o Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

o Please check that this question paper contains 36 questions.

o Please write down the Serial Number of the question before attempting
it.

° 15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book
during this period.
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(vi) ST 37 & J97 G&T4 T 6 & J97 G-51 Sl & &/ F79 IR T 30 I § a7 &/

(vii) 4T 3 % J99 Q&7 T 18 & F¥7 di7-d17 37l & &1 3799 I TT9T 50 I3l 7 a1 &1

(viii) Y77 37 & 599 G&AT 19 T 24 ¥ F97 G- HHl & &1 579 S/ 197 70 =5 4 a4 &1

(ix) ST & & J97 Q&I 25 G 33 F F¥7 FANNHSF HI¥IcT T SN Tglashed 597 &1 TP 97
TF 37 FT &1 3T T¢ 9R fasweql & @ 79 Fael U Gad 39T 9y 77 &1

(x) YT T F F97 G 34 T 36 F F97 FIITcHF HIVIcT T TR -3 SH & F97 &1 579 S
gftra 4 &7 &1

General Instructions :

(1)  The question paper comprises two Sections, A and B. You are to attempt both the sections.
(it) All questions are compulsory.

(iti) There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be attempted separately.

(v) Question numbers 1 to 3 in Section A are one-mark questions. These are to be answered
in one word or in one sentence.

(vi) Question numbers 4 to 6 in Section A are two-marks questions. These are to be answered
in about 30 words each.

(vii) Question numbers 7 to 18 Section A are three-marks questions. These are to be answered
in about 50 words each.

(viit) Question numbers 19 to 24 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions based on practical
skills. Each question is a one-mark question. You are to select one most appropriate
response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on practical skills.
These are to be answered in brief.
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HIOT - A

SECTION - A

1. 39 Uehieia &1 94 AR e fafau fogs ww o1 § 4 e wEp g §1 1

Write the name and structure of an alcohol with four carbon atoms in its
molecule.

2. I Stel hl R Hed §, Tl Tk & =i § i € YRR & Wifiter ar e ¥ 1
TH YR & Sd] ol Teh 3Gl S |

What are those organisms called which bear both the sex organs in the same
individiual. Give one example of such organism.

3. AN % S UG Siad Ial A ARl oh @A-Hed ¥ TFeRy W I8 a1
fordll T goYE #1 oot SIS

Write one negative effect, on the environment, of affluent life style of few
persons of a society.

4. ‘et M Tdu g e fedt famm & wfdfors o1 emadA —3 B0 3@ w2
R gdu/gfafes & fawa § g 9R SHwIREl St g s1E

“The magnification produced by a spherical mirror is —3”. List four
informations you obtain from this statement about the mirror/image.

5. ‘‘on Sa fafaua & fafire o €17 3@ wUE #1 gfie wifew 2

Forests are “biodiversity hot spots”. Justify this statement.

6. & WIUGY F B? I qhieh fohd YRR T & TR&T0 H HeHw ¥ 2 2
What is water harvesting ? How can this technique help in the conservation
of water ?
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forelt TEe], fSaH &1 g3 C,H O &1 & wEA-AN X 91 8, § Hifeam
YTg T THE T M R dd Jaeee & 91 & 19, YV 9 e )
@A o @ W Sad! diel aF | 98 719 ‘91’ @ § Sadt 81X iRy
] gAY | BF arelt Tfuferan &1 TaEie eI faf@e | S9 &A™ X &l
Y Wig GeRIReh 70 o 919 TH HXd &, 1 Sl 318 ol &, SHehT A 3iR
qo fafau |

On dropping a small piece of sodium in a test tube containing carbon compound

X’ with molecular formula C,HO, a brisk effervescence is observed and a gas
Y’ is produced. On bringing a burning splinter at the mouth of the test tube
the gas evolved burns with a pop sound. Identify ‘X’ and Y’. Also write the
chemical equation for the reaction. Write the name and structure of the
product formed, when you heat X’ with excess conc. sulphuric acid.

forelt Tfeeerse iR foeh ®IEH AT 1 T9H 7 ¥, S C,H,0 g1 Fefd
fohdl ST 9ohdl §1 S9! G=ATT 3R M fafaw) fagm =0 v § 39 S &
9 & GaY T 3eei@ HIfT |

An aldehyde as well as a ketone can be represented by the same molecular
formula, say C3HgO. Write their structures and name them. State the relation

between the two in the language of science.

FE T X MYH Mad AROT & d oTed 2R 16 9 wqg H feerd T

(2) X H GANSThal SoiaeiHl i T&AT a1 SHHh! FASiehdl THid Sifag |

(b) X I TEEISH & WY AfAfRan g1 9 At &1 310] ¥ faf@n qon saet
sl M-fog | Eifeu |

© @ X &1 9 fafgu qon Seor wifse foe a8 9@ o1g § steen g 2

An element ‘X’ belongs to 3'd period and group 16 of the Modern Periodic

Table.
(a) Determine the number of valence electrons and the valency of ‘X’

(b) Molecular formula of the compound when X’ reacts with hydrogen and
write its electron dot structure.
() Name the element X’ and state whether it is metallic or non-metallic.
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11.

12.
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(a) STMH 3Tad TR | eht Ferfaal (THE F& iR oTed HeE) 1 Seaid
hifSTT |

o

(b) T Tl I AHRI T A1 & Hed A H Faferd sifag |

© X R ZH FAM § 99 A w1 g fafan |
Three elements X’, Y’ and ‘Z’ have atomic numbers 7, 8 and 9 respectively.

(a) State their positions (Group number and period number both) in the
Modern Periodic Table.

(b) Arrange these elements in the decreasing order of their atomic radii.

(¢) Write the formula of the compound formed when ‘X’ combines with Z’.

Sftell & S % Ged H 3TN B 9l U8 (' qAeyad’ (YASA) i sare 3

HIT | Fa9 | quie Hifwe 6 e S 95 I Sial | qAegyed’ &

o o N0
Alsh 4l Teond HonlX HH4=l gldl %7

Explain the term “Regeneration” as used in relation to reproduction of
organisms. Describe briefly how regeneration is carried out in multicellular
organisms like Hydra.

~

TIYS o 59 o ded § fo@ued ok @ued & o9 U@ <X & 3o i | 3

Jd%h ol Th-Tah 3R o SifSu |

In the context of reproduction of species state the main difference between
fission and fragmentation. Also give one example of each.

5 P.T.O.
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(a)

(b)

() 3R@ H Afha 9 ‘A’ &1 9 faf@w)

() ‘A’ 9N ‘B q% TRE YHR TEAA1 © 2

(i) W ‘C’ &1 "W fafEu |

(iv) ‘D’ g Afeha W o1 FO=F & I9=1d o1 Bl & ?

List two reasons for the appearance of variations among the progeny

formed by sexual reproduction.

(1) Name the part marked ‘A’ in the diagram.

(11) How does ‘A’ reaches part ‘B’ ?

(11) State the importance of the part ‘C’.

(iv) What happens to the part marked ‘D’ after fertilisation is over ?
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‘e & T aF-Tae’ ok arfete’ WER 98 €1 39 &eM &1 qfic
ISy |

“Two areas of study namely ‘evolution’ and ‘classification’ are interlinked”.
Justify this statement.

3SR it Tl § e fau T weE &1 gfie i
“HIE AU FUTG A BT €, T oFad el ol drarl”

With the help of an example justify the following statement :

“A trait may be inherited, but may not be expressed”.

et o9 g1 o9 Tt forar & wfafera @1 emaele — 1§ afe fora =t wfafars
Y T 60 cm T, O TG HI HIHT GO FM § 2 AC fod &1 ¥ & 3R 20 cm
ARG e fean S, 1 gfdfers el s ? 3799 ST o1 SR qfee 3R
9! qfte & fag foxor s@ ot Eifaw)

The image of an object formed by a lens is of magnification —1. If the distance

between the object and its image is 60 cm, what is the focal length of the
lens ? If the object is moved 20 cm towards the lens, where would the image
be formed ? State reason and also draw a ray diagram in support of your
answer.

I8 I & fau fodt foramna &1 9uiq sifae foe f79 9yor e U9 gr

forarfed vad Ykt o1 o= weigd fUsH g QAAifSId ohieh UH: vod Tehtel IT

fhall ST Wehal 81 T30 YT oh WagH & AAe ol <R & forg fhor o
oft Eifeu |

Describe an activity to show that the colours of white light splitted by a glass
prism can be recombined to get white light by another identical glass prism.

Also draw ray diagram to show the recombination of the spectrum of white
light.

7 P.T.O.
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18. A o ToRamhalTdl A S AUSa o Sitd ®4l & o e 9 gwifad fean g1 A 3
SR Yhfd o THIHA ed 4 Sa-HvSd o Sid T of9d Aagdl o HAgTia
Tqe & TH-I W fean T wHa 5N W giva yfaea uRkfefai 3 9
Fad IR AT IW STl Hl AADRN §, Aok Yool o THL Siral i o
RN B 1 IR Teh HEUIS! Sl 37Tk Thal o ‘Sehl o9’ 1 Hihd A ©
el o BEI B TATERY % YT SIFTEehdT Scdel i @l 7, a1 39 9o # ot Shen
W 8| 98 UH-US™ & THERU o =0 &l Ak o AT ff F:ER wE
@ 2

(a) BH 31T YFTERU] oh1 HETU HTAT i OIS € 2

(b) FRT U] & FRUg f9er & fau &8 &R el ge-ufedl &1 95
fafem |

(¢ Y%k IH WU g YA S ol ki F IR S Mk fommer &
‘1 Fa’ H 9fRd 9 R

The activities of man had adverse effects on all forms of living organisms in
the biosphere. Unlimited exploitation of nature by man disturbed the delicate
ecological balance between the living and non-living components of the
biosphere. The unfavourable conditions created by man himself threatened
the survival not only of himself but also of the entire living organisms on the
mother earth. One of your classmates is an active member of ‘Eco club’ of your
school which is creating environmental awareness amongst the school students,
spreading the same in the society and also working hard for preventing
environmental degradation of the surroundings.

(a) Why is it necessary to conserve our environment ?

(b) State the importance of green and blue dust-bins in the safe disposal of
the household waste.

(¢) List two values exhibited by your classmate who is an active member of
Eco-club of your school.
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(a) TIeid o9 1 HRikd g ol 9w fafeT
(b) et TIER o9 ®t HIHT T 30 cm B 1 39 H o THIVTR s o TRl

o o

5 cm SR % fom &1 ot O W @ 9, f& 39 gfafos of@ 4
15 cm Q0 W a1 ?  gfafesa =1 @S ot 7 HifSw)
(© W fegfa @ yfafara a7 <9 & faq feor e wifeu |

(a) Define focal length of a spherical lens.

(b) A divergent lens has a focal length of 30 cm. At what distance should an
object of height 5 cm from the optical centre of the lens be placed so that

its image is formed 15 cm away from the lens ? Find the size of the image
also.

(¢) Draw a ray diagram to show the formation of image in the above situation.

12 cm WY T o Tqa U gR TRt fora a1 wien gfafera s o fag &

T R

@) TOU % "HA fare & g0 %1 9 ufeR g e ?

() I aren gfafora s § fom @ S g Y6 9817 39 e §
yfafara a1 <9 & fau foetor s difew)

i) 39 forar =1 wfafeoms el o=, aft 38 SO & 9 24 om U R W@ T
TMT? A9 IW i Yfe & fau g9 feufa & fau «ft feo sma Eifa

ST TohXuT ST@l § g4, &7 Thihd IR ashal s @i &dfqdl &l o WM |

It is desired to obtain an erect image of an object, using concave mirror of focal
length of 12 cm.

(1) What should be the range of distance of an object placed in front of the
mirror ?

(1) Will the image be smaller or larger than the object. Draw ray diagram
to show the formation of image in this case.

(i11)) Where will the image of this object be, if it is placed 24 cm in front of the
mirror ? Draw ray diagram for this situation also to justify your answer.

Show the positions of pole, principal focus and the centre of curvature in the

above ray diagrams.

9 P.T.O.

Court esy

CBSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.conl

21.

22.

23.

24.

31/2

Downl oaded From : http://cbseportal.conl

AU 3TYad F1 2 U UREEAT H1 SUAN Hh A < T UTH i
TS i ST HIT

(2) X o1 feAfeam

(b) fm Eea IR foafea g

A ST o R & fau oMy Eifeu |

What is atmospheric refraction ? Use this phenomenon to explain the following
natural events.

(a) Twinkling of stars

(b) Advanced sun-rise and delayed sun-set.

Draw diagrams to illustrate your answers.

YT & ? THHR! G 1 IUH HiTST | Tl AHE TSl o Th{0 § 39k

SRl T 3T hiTeIT |
What is placenta ? Describe its structure. State its functions in case of a
pregnant human female.

faera &1 gy fafEw| o8 fF9 YR a1 ©7 99 Sitay foh Siaws {6
TR Tam & THedT § YHO T B © 2

Define evolution. How does it occur ? Describe how fossils provide us evidences
in support of evolution.

g A AR P YR Hig H,S0, % 1 T fhT SH 0 =8 317 Fifiren
‘Q T § S TR 3 w1 IURd H SRS 9 Hehald ®ich His dqw
AT R’ S/ 81 R’ 1 Th 31T, T8 8 W, Fl6 SESATHIEE o ol 0] qe0l
S o M AU ST B P, Q IR R I TEWT IR wiHfea stfufshaneti &

TaaHe TR fafaa |

A carbon compound ‘P’ on heating with excess conc. H,SO, forms another
carbon compound ‘Q’ which on addition of hydrogen in the presence of nickel
catalyst forms a saturated carbon compound ‘R’. One molecule of ‘R’ on
combustion forms two molecules of carbon dioxide and three molecules of water.
Identify P, Q and R and write chemical equations for the reactions involved.

10
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SECTION - B

25. = feu U oM@ H el 3ifhd w0 HE G T2 1

(@) iR ze ®) <A 3R D
© i, ze 3R /D d <r, ZA X D

In the following ray diagram the correctly marked angle are :

(a) «iand Ze (b) <A and #D
() /i, Zeand £D d) «r, zA and #D

26. T SIS STAH STAHT THFTIMAT bl TSl o gL& o W TGt HiHel<l &f sarefl 1 1
yiafers STe1 99 g U8 W HRIkgd & {1 B o afg ous fners weiea
3MYeh! G 9 ATt B W 3T A k1 GHR TR o1 3H 9d W wmeRfEd
F T GAE <, 1 ATH I U] hi A © fh M -

(2) G HI IS W UG hl 3T FLHIL |
(b) TE HI A W UE G T IR |
(€ <" I A 91 GF H fown H HRIE |
@ oG IR 9 A B gd BT AR T |
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Suppose you have focused on a screen the image of candle flame placed at the
farthest end of the laboratory table using a convex lens. If your teacher
suggests you to focus the parallel rays of the sun, reaching your laboratory
table, on the same screen, what you are expected to do is to move the :

(a) lens slightly towards the screen
(b) lens slightly away from the screen
(¢) lens slightly towards the sun

(d) lens and screen both towards the sun

27. feU U srerqel YU 1 Wieshe ®ihd U 10w & foaw A9 qdur gy fRet 1
Ty fo o1 gfdfoma frelt 08 W wefad & 81 76 W 9w giafors T
ﬁ@@"ﬁﬂﬁﬂéa:

(a) TG uftafda iR B e 7

(b) S AR B B 2
€ Hrem 3R BT B ©
) Hrem R T B e B

To determine the approximate value of the focal length of a given concave
mirror, you focus the image of a distant object formed by the mirror on a
screen. The image obtained on the screen, as compared to the object is
always :

(a) Laterally inverted and diminished
(b) Inverted and diminished
(¢) Erect and diminished

(d) Erect and highly diminished

31/2 12
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MY ST JAmen | fafis saad &ioh (i) & fae &g & %9 9 oA 9]
Y13 fHeor &1 9 ARfEd #d €, 991 TS Y § qea&dt 3T9add vl
(~ ) 3R a7 (Le) o TTOQ €1 3T YeT0 o STTER IR Tel fe=nd g
g &

(@) 98T sr W, T Le & T IR §

(b) iBRIE /r ¥, W Le T T R T

© /i9ET LoV, W £r F AN IR T

d) BT Le W, W 2r & ATHT SRR ©
In your laboratory you trace the path of light rays through a glass slab for

different values of angle of incidence (£ 1) and in each case measure the values
of the corresponding angle of refraction (£ r) and angle of emergence (£ e).
On the basis of your observations your correct conclusion is :

(a) «iis more than /r, but nearly equal to Ze

(b) ziisless than Zr, but nearly equal to Ze

() Ziis more than e, but nearly equal to /r

(d) ziisless than Ze, but nearly equal to £r

eh o™ & T9-9S9 # A & fau avas ®eR S 3uaed -l ¢ |
e foemerd § 3ucey oaul o A< fU 99E § 9 98 T 99 gHe Sas
TS TSH i A ST | oM W, 98 39 HAR e o1 <

(a) Tifedq FARES, HieTgaq FARES

(b) TP FREs, Hifedd FREs

) Wifeay serEs, AT FREs

a

@) FHfegay FiREs, T FTREs

In the neighbourhood of your school, hard water required for an experiment

is not available. Select from the following groups of salts available in your
school, a group each member of which, if dissolved in distilled water, will make
it hard :

(@) Sodium chloride, calcium chloride

(b) Potassium chloride, sodium chloride

(¢) Sodium chloride, magnesium chloride

(d) Calcium chloride, magnesium chloride

13 P.T.O.
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30. I3 B e A9l & Afyufsran fago &t T 9t v idl faeng o=
3R fo o forerqg 99 W Sield €1 98 g€ UaT0 i ®

(a)
(b)
©
(d)

et forema 731 # i3 gRad &l &ar SR oe fefenyq o 9t 2 S B
e fereng o # i aftadq 72 i IR e foens 99 e 2 S 2
Fret feremg o= § &g uRada 781 g iR o ferems 9 Hfien &1 i 2
gHl B fofeqq o= & U1 | @i aREdy T8 sl

A student puts a drop of reaction mixture of a saponification reaction first an

a blue litmus paper and then on a red litmus paper. He may observe that :

(a)

(b)

©

(d)

There is no change in the blue litmus paper and the red litmus paper
turns white.

There is no change in the red litmus paper and the blue litmus paper
turns red.

There is no change in the blue litmus paper and the red litmus paper
turns blue.

No change in colour is observed in both the litmus papers.

31. TAMTIMCAT H e[ 9 & faq g6 #iE da ok I 4R =1feq | 99 o9 & fag
T IR R &1 = e T D 91 FaeH g9y SugE W@ 2

(@)
(b)
©
(d)

TS &1 dd 3R Hicwoy gReeEe
TRAA &1 da 3R Wifeaq eEgiEs
WIS &1 dd IR Tifedq gEeirEs

T H1 9 AR Ffeway SRR

For preparing soap in the laboratory we require an oil and a base. Which of

the following combinations of an oil and a base would be best suited for the

preparation of soap ?

(a)
(b)
©
(d)

31/2
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Castor oil and calcium hydroxide
Turpentine oil and sodium hydroxide
Castor oil and sodium hydroxide

Mustard oil and calcium hydroxide
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32. dfc oy = < T wies@l # 37 <1 Aol & 998 & g & fag wer w1
fent W= 9SG €, @ o9 3 9 a7 2

(a) TSR SR Tl (b) oTE AR ITRIH<T

(© T 3R THRR @ fuudt iR e

If you are asked to select a group of two vegetables, out of the following, having
homologous structures which one would you select ?

(a) Carrot and radish (b) Potato and sweet potato

(¢c) Potato and tomato (d) Lady finger and potato

33. JANRICT H HeX o oSl o YU 1 Y& Fd @0 forefl B 4 19 fu erqae 1
gur < fafys 9 &t STl e oo H Y aE |

SSITERU], 3T=d:hold, Joligy, Ty, SSUe gR, s |

39 Gl &1 980w o qvE ek qEed 7 9% feweft o6, fh e | Shaw
A o & T 1 sWed gE A @ A wd am wifen

(a) SITSIERU, HeAigy, SS9 (b) 3T<:hed, HAIE, SSUE N

(© SISTas, iR, SISl (d) AR, SIS, TigT

A student while observing an embryo of a pea seed in the laboratory listed
various parts of the embryo as given below :

Testa, Tegmen, Radicle, Plumule, Micropyle, Cotyledon.

On examining the list the teacher remarked that only three parts are correct.
Select three correct parts from the above list :

(a) Testa, Radicle, Cotyledon (b) Tegmen, Radicle, Micropyle

(c) Cotyledon, Plumule, Testa (d) Radicle, Cotyledon, Plumule

31/2 15 P.T.O.
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2.5 cm 918 1 hIg fo 10 cm HIHT T & FHdl 396 AH & YHRITR &g ‘O’
Y 15 em 0 W feo@ T1 a7l gfafera w1 feafa oiR 9Es 9@ &6 & fag
fortul oTRE EifAT | 36 @ H YT o= ‘O’, &I ®iekd F ad1 gfafars st

e SAfRd ifsT |
An object of height 2.5 cm 1s placed at a distance of 15 cm from the optical
centre ‘O’ of a convex lens of focal length 10 cm. Draw a ray diagram to find

the position and size of the image formed. Mark optical centre ‘O’, principal
focus F and height of the image on the diagram.

HIE B Th I HIfeqH BRESH e o wirek § fau T udHiges 3
T foama €1 T < g a0 &1 gEl oAy, R 39 Wk ¥ g 9
stfuforan & fowa ® ot e 9 § forgan =g 2R arelt Tamfr stfufswan
&1 TEEH® e o fafaa |

A student adds a spoon full of powdered sodium hydrogen carbonate to a flask
containing ethanoic acid. List two main observations, he must note in his note
book, about the reaction that takes place. Also write chemical equation for
the reaction.

TS D T2 H 81 a1 3TAfiTeh S99 o fafirel =Xol &) SHHaR <90 ol Lo
TARE &1 F&I01 9 @I &1 T I &1 AW faf@q | st 3 a8 F&10 & 3,
I fad HH H, ANG g IR

A student is observing a permanent slide showing sequentially the different
stages of asexual reproduction taking place in yeast. Name this process and
draw diagrams, of what he observes, in a proper sequence.
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